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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Ql g + FT T +, - F HT - - T HT x, x I HT + &, A 10+5:7 - 4
x 30 T AT F1 gEM?

If + means +, + means —, — means x, x means +, then 10 +5+7-4x30=2?

Ans K14
X238
V510
<46

Question ID
Status
Chosen Option

19864495180
: Answered
11

Q.2 =ik 3 378, 2005; 6 3191, 2010 3T 5 fewaT, 2013 1 T TATF-ARG-a§ 9Fvg &
Torar Sirar ., i 3=t v [aa aifvidia faeivar e o aed &) Reafaf@a T
el ¥ AV & AT TaaAaT [Gag 7 off TgT e &2

The dates 37 April, 2005; 6% August, 2010 and 5% December, 2013 when written in Date-
Month-Year Form have a unique mathematical property. The Indian Independence Day of
which year among the following has the same property?

Ans o 12017
X 22016
< 32018
& 42015

Question ID
Status

9864492614
:Not Answered

Chosen Option : --

O o F T P TE e 2

Which of the following numbers is composite?

Question ID
Status

: 9864493025
: Answered

Chosen Option : 2
Ans X1 241
< 2. 261
< 3271
v 4 251
4
Q Question ID : 9864495163
Status : Not Answered

Chosen Option : --
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TE g T ¥ e gdd
g fifaw for Fa @1 ey afes w7 & &F 70 w5y & segar &= ar 82
He:
3 el F qu
forsar
1. FERY 7 TAT qT B
2. 9 g T ¥

Consider the given statement to be true even if they seem to be at variance with the
commonly known facts and decide which of the given conclusions logically follows from
the given statement.

Statement:
This bowl has soup.
Conclusion

1. The bowl has tomato soup
2. The soup is too hot.

Ans ?{LW | Fﬁ' %.I
Only I 1s correct
o, | 3 e w@r g
Both I and II are correct
 AA AT T E
Netither I nor II 1s correct

x4_aﬁ?~r || TEr gl

II only is correct

x

5 4 2 2 6, 3 3k 8 EEaTHt FT ATeT AT &7 Question ID : 9864492979
The median of the numbers 4, 2, 2, 6, 3 and 8 is: Status : Answered
- Chosen Option : 3

Ans K 1. 45

V235

X34

X 43
6 et I U fAwH I ggaet S Question D : 9864493409

Status : Not Answered

Pick the odd one out from the following:
Ans o 1 NaOH
#< 2. Cu(OH),
/< 3. NH,OH
# 4 Zn(OH),

Chosen Option : --

Q.7 J= @Al F HUAT g1 5 Fheliane FEw” - v [ANT
TEURT 1: “afE 319 6 FAT F & o € a3 aet 10 ferela JF w A
& sy
THUROT 2 “HUA T TR A FEHH e 1 Chosen Option : --

“Gain your weight by 5 kgs in 3 sessions™- an advertisement
Assumptionl: “ if you join in 6 sessions your Weight will be lost by 10 kgs .
Assumption 2. “the company is dealing with weight gain programs™

o, T AR &R ¥
& Download RRB Exams PDF E-BOOKS
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Status : Not Answered
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Q.8

Ans

Q.9

Ans
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ad || 3dfafed gl
II only is 1mplicit

3_aﬁ3r|34?|ﬁ1%ﬁ%|

I only is implicit

K,4_m5rr|m||aiaﬁ1%ﬂ‘éf|

Either I or IT 1s implicit

K2

x

BIE 2018 d&F 36T AGENT & HFAN A0 TF &N AN &
Who is the Union Minister of the Ministry of Commerce and Industry as of February

20187
g‘lrar EE}

Suresh Prabhu
AT T

WL

< 2.
Sushma Swaraj
s IS T
Anand Geete
, 3T SR
Uma Bharti

x

FT T T T T # 3eaw & & v qureg #2

ATEeT T § FE veR g fte &2

hed:

|: AT T A T=IH E

Il: == FT T FAT g

Which of the following statement is sufficient to answer the question?
How is Bhavana related to Sathish

Statements:

I: Bhavana’s mother is Rajyam
II: Rajyam’s son is Satish

o A AR A Al T #
Neither I nor 11 is sufficient
o, | HR NI Q= T §)
Both I and IT are sufficient
p )
ae | gAeT § SEte 3k || 9aeT @@ g
Only 1 is sufficient while IT is not
X 4
el || gTea g SaTF e | gAeg Fgr g

Question ID : 9864492298
Status : Answered
Chosen Option :1

Question ID : 9864495181
Status : Answered
Chosen Option : 2

Only 11 is sufficient while T is not
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= 7 FY gemEr o2 Status : Answered

Raman told Ananth “Day before yesterday I taught the only brother of the daughter of my Chosen Option : 4
paternal grandmother”. Whom did Raman teach?

Ans
x 1 8

Brother

Father in law

Father

Q.11 mfger & 20%  gifet W TRl ag T % 280 7 ol a¥g W FF A T AP
Sahil sold an item for T 280 at a loss of 20%. The cost price of the item was:

Question ID : 9864492708
Status : Answered

Ans X 1. ¥ 336 Chosen Option : 3
2.3 340
V2 T 350
K 4 T 1,400

QL2 Sy F @ FiF T AT HIAT AT ST Tehal 27 Question D : 9864493357

Which of the following animals can change its sex? Status : Not Answered

Ans . Chosen Option : --
. waraTTe (Planarian)
~L

Planarian
=T (Snail)

Snail
< 3 AL
Ascaris
o= (Nereis)
Nereis

Q.13 T & ¥ i a1 F=E9ad FT Gl %"’ Question ID : 9864493507

Status : Answered

v

p

‘Which of the following can undergo sublimation?

Ans X | A Fee

Ammonium chlorate
AT Tohe
" Ammonium sulphate
s HATATT FeNEs

A mmnnitmm chlarids

% Download RRB Exams PDF E-BOOKS
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Ammonium sulphide

X a4
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Q.14 gt 1=y Rifit & Res @S wifa & o5« e v e & 3 AET W
H A E, TR T T o T T 3 g g e WY # o el of 5w
u & e E

Paul Revere was a patriot in the American Revolution against the British. Name the city
where he lived and died. The Paul Revere House is still located in this city.

Ans o TRt
~L

Chicago

Clrre)

Boston

- ufEeafea

~ 3
Pennsylvania

FATTLET
Florida

v

p !

Question ID : 9864492119
Status : Not Answered
Chosen Option : --

Q.15 A 3 B U 1H Y HHA: 10 TAT 15 AT 7 L Thd &1 B FIH W Ll g 31 5
f&et a1g A 8 1A 3 o3 <11 §1 98 A% 60 A &, ol 3e3eh! eufFaara fwan fdan
&

A and B can complete a piece of work in 10 days and 15 days respectively. B starts the
work and 1s jomned by A after Sdays. If they earn a total of T 60, what are their individual
shares?

Ans  of 1. T 24 T 36
< 2.330,730
K 3320740
< 4.T25 735

Question ID : 9864492589
Status : Not Answered
Chosen Option : --

%10 & TS WA & I & UG FAT g

J-11, L-13, N-15, P-17, ?, ?
Find the next two terms in the series
J-11,L-13, N-15,P-17,2,?

Ans X 1.C-3, H-8
< 2 R-18, V-22
< 3 R-19, T-21
v +0-15,R-16

Question ID : 9864495166
Status : Answered
Chosen Option : 3

file:///sysroot/ho

Q.17

Question ID : 9864495174
Status : Answered
Chosen Option : 2
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Ans

ﬁnra—‘.aa’f[qu‘s I a%gmfraamw I
JgdT H

Y

IE Thol URee &l

oy

1. Thol freT &1 &= &1
2. Thol TollfEcs @ 8T Bl

Read the statements and identify the logically correct conclusion from the given
information.

Statement:

This scale is transparent

Conclusion

1. The scale is made up of glass
2. The scale is made up of plastic

mllmm%|

Only IT follow
> 2

fasawy (1) 3R (2) At 3gEROT L E
Both I and II follows

ol | TEOT LT g

Only I follow
v &3

> 3.

o ar | AR T &l TR T g
Neither I nor IT follow

N "AN' Exam St udy Not es

Ans

Q.18 7§ TIfzad FNEs & AT (AFFF) O & 97 ¥ fastelr o #r AT 8,
AT T g REfea e I &

‘When electricity is passed through an aqueous solution of Sodium Chloride (brine), it
decomposes to form:

Question ID : 9864493510
Status : Not Answered
Chosen Option : --

« 1 NaOH + H, + CI,
X 2.NaOH + H, + 0,
# 3. NaOH + HCI + H,
# 4 NaOH + H, + N,

Q.19

Ans

AN 7 & 397 7 eafafld #§ @ Sl W SO S JEr e
s (dal) 32

India-born Indira Nooyi is the Chief Executive Officer (CEO) of which of the following
companies?

Question ID : 9864492164
Status : Answered
Chosen Option : 4

1 HATSHIEIFT
Microsoft
THART
Amazon
X3 cacodcarci)
Coca Cola

SfeEe

> 2.

v
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Q20 et o TEHRE TFaF HfFET g Question ID : 9864493116

Status : Not Answered

The universal natural auxin of plants is:
Ans . IBA

~L
IBA

3 " ; !
citric auxin
NAA

NAA
TAA

TAA

Chosen Option : --

< 3

v

Q.21 2016 ¥ fyat aiefw & #ia @ sy d=ffea Badr & T 95+ sfar ar?

uestion ID : 9864492160
‘Which Indian badminton player won the silver medal in the 2016 Rio Olympics? Q

Status : Answered

Ans 2{ . m ﬁgﬁﬁ- Chosen Option : 2
Sania Mirza
drar. fify
PV Sindhu
x o, TS Sgare
Saina Nehwal
feguotr are

Rituparna Das

Y &)

p !

Q.22 urh i eRae & &t e o AT S TRt AR eREe # e FwAen
41 3% 31 &, 3790 122 & e # e B s 31 sifew G &
9T 3 eREd IS = §?

Question ID : 9864492725
Status : Not Answered
Chosen Option : --

Two water-squash mixtures, the first having a water-to-squash ratio of 4 : 1 and the other
having a ratio of 3 : 1, are blended in the ratio 1 : 2. What is the water : squash ratio in the

blend?

Ans X 1.19:11
v223:7
< 317:13
K 44:3

Q23 \gag (shell) F THRITST 3T S Tobat 1o Slaglel! T TEATE:

Question ID : 9864493134

The number of electrons that can be accommeodated in the M shell is: Status : Answered
Ans  of 118 Chosen Option : 1
<28
X32
X 432

Q2% 3t eI 90T aEg GleRT FT 2T 22 Question ID : 9864493423

Status : Answered

What is the princinal focus of a spherical mirror?
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TE TF T f6g ¢ Soae T A W

sehtar g £

Tt is a point from which the rays of light appear to be coming from on the principal axis of
a convex mirror.

W2

TE THE 3T W UE g § T AOA W YHE 3T & WA ST 6
ror wieffaa @ & ag i gl § 1 Ao fig W sW R & seae g
femrs & 7

It is the point on the principal axis through which rays of light parallel to the principal axis
pass after reflection or appear to be arising from this point on the prineipal axis.

X 3
UE T WIET el F ohg & TorHeHT AR 90T Teh fREar 2
It is the centre of a hollow sphere of which the spherical mirror is a part.

Tg MR GI0T HT ALATAgG gl

It is the midpoint of a spherical mirror.

o4

Q.25 BT T FHUT FH T AT, Hel &1 98 A a2 ¥ e g gar g 3k
T fifaw & Fia @1 oy @f s 7§ Y 0 FEe a1 gEior w6 8
FAA:

7o A e §) wh Rfeewr gg & Chosen Option : 4

Question ID : 9864495162
Status : Answered

fersend:
1. W Ty e ¥
2. g5 917 9¢ 2

Consider the given statement to be true even if they seem to be at variance with the
commonly known facts and decide which of the given conclusions logically follows
from the given statement.

Statement:

Some tigers are cats. All the cats are rats.

Conclusions:

1. All the rats are cats
2. Some of the tigers are rats

Ans ‘(l_
v (1) 3R (2) 2t AegaRor e ¥
Both (1) and (2) follow

Kz_mﬁﬁ;ér (1) 31TEOT LT &

Only (1) conclusion follows
> 3.
o a ey (1) 3R T & vy (2) ITERoT T ¢
Neither (1) nor (2) follows

Fael sy (2) FETOT FT E
Only (2) conclusion follows

r

26 : ; $ TTER 110°
Q.26 2 v fig P & O 7 et FErwlr et T P SR PB T T SR 110° & 0T Question D ; 9864492538

ST &, A FI0T POA FT AT FAT &Y
Status : Answered
If tangents PA and PB from a point P to a circle with centre O are inclined to each other .
at an angle of 110° then the angle POA is: Chosen Option : 3
Ans X 1. 50°
X 2.70°
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X 4. 45°

Q.27 gor Fr afysteT Fr fFES IR W ArEmAa Far 31 Gt &7

Definition of Force can be stated from:

Ans
A Tl &1 gEr foas
Newton’s second law of motion
o, T e T Tgen A
Newton’s first law of motion

sgel HT FTd &1 Jau WaH"

Newton’s third law of motion
e H ITcarsHuor & AaH

Newton’s law of gravitation

X 3

v

Question ID : 9864493600
Status : Answered
Chosen Option :1

Q-28 Froft g& R &7 3 He fvw g @ &1 a7 90° afdomad g €, i 135°
arATEd R G 450 STRTad gAd €1 o 3E He frw faam #r aiw g2

Vani is facing East direction. She turns 90°clockwise then 135° Anticlockwise and
45°clockwise, then in which direction she is facing now?

Ans
x: T
East

gfegH

West
3{';.' II

North

aiayor

| South

X 2

V3

X4

Question ID : 9864495170
Status : Answered
Chosen Option : 1

Q29 5in @ cos(90° — A) + cos B sin(90° — §) = 2
sin# cos(90° — 8) + cos 8 sin(90° — 8) = o

Ans Jl. 1

Question ID : 9864492456
Status : Answered
Chosen Option : 1

Q30 0196 4+ 1.96 + 19.6 + 196 =?
0.196 + 1.96 + 19.6 + 196 =7
Ans  of 1217756
X 2.216.856
X 3 216.756
X 4.217.676

Question ID : 9864492800
Status : Answered
Chosen Option : 1

Q.31
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Ans

. _Downl oad RRB ALP TECHNI

ﬁaﬂmﬂaﬁmﬁ-

182 . ) :
T2 when written in the simplest form 1s:
- 28

1. —
LA

- 91

2. —

X2 —

X g 14

10

7
4. L
v :

"AN' Exam St udy Not es

Status : Answered

Chosen Option : 4

Ans

Q32 o & § i W uIqY 33 TR % Wy <fwar ¥ AR = E2

Which of the following metals reacts vigorously with cold water?

oY
Potassium

. TogHAETH
<2 2
Aluminium
X 3.
Zinc

){4.3h%1

Iron

v L

Question ID : 9864493351
Status : Answered
Chosen Option : 4

Ans

Q33 P77 wae F e 3 ¥F BT FF ¥ Fua g 2

T =17 et & AR W AT H A3 AT Hifere?
FU:

I: A T A 3 g H HG T 10 A HAF
I g 3mg o & 24 aF wfew

Which of the following statement is sufficient to answer the question?

Find the age of the mother from the given statements.
Statements :

I: Mother’s age is 10 years more than her son

II: Sons age is 24 years more than daughter

v L
Faer || T2Tea & FETF | 33T AT S8 B

Only II is sufficient while I is not

xz_;ra’rlaﬂ'{;rﬁrlltnﬁ?ré‘l
Neither I nor IT is sufficient
o | 3R 11 = TaT &
Both I and II are sufficient
X 4
e | TOTT § Safe | 3o gaeT Jér B

Question ID : 9864495169
Status : Not Answered
Chosen Option : --

Only I is sufficient while IT is not

o |

file:///sysroot/hon
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AT TAAT JUTT &wa, A & W $OT #9909 w5 H
Heg LT &7 Status : Answered

Which part of the human reproductive system helps the embryo get its nutrition from the Chosen Option : 1
mother’s blood?

Ane TeF-ATeT

Fallopian tube
~ 3. Tefrer
Uterus
X AT 3T

Cervix

35 o :
Q3 Fha ¥ T e A F IR & F e g Question ID : 9864495182
X W AT AT HITAT? Status : Answered

hdd: Chosen Option : 1
|: UATCHS HATTT TH TEIAHT & o7 & T9T 52 &

II: F&aT T AR 2 ¢

Which of the following statement is sufficient to answer the question?

Find the value of x.

Statements:

I: Sum of squares of positive consecutive even numbers is 52
II: Difference of the number is 2

e 1 3R e e §
Both I and IT are sufficient
> 2.
el || gaTeT § St ke | 9degd F&7 21
Only II is sufficient while I is not
W 3
aer | TaTeg § FafF ke || 9o 74 F

Only I is sufficient while IT is not

x4;r;fr|3ﬁzr;r€r||qahr%|

Neither I nor IT is sufficient

.36 —q-ﬁ_—rr T : .
¥ 3w = SERE St few 1w wHg # rEId B Question ID : 9864495171
Find the person who does not belongs to the group Status : Answered
Ans E @ n f Chosen Option : 1
&L

Mahendra singh Dhoni
" S

Sunita williams

) Download RRB Exams PDF E-BOOKS
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el didell

’ Kalpana chawla
x o, TR oTAT

Rakesh Sharma
.37 3 wfshan
Q 50 frciamer 1 v aFg F 2.0 AT A FAL TH I A § | 79 Question ID : 9864493161
Py ﬁa—rrrn FE T . Status : Not Answered
(AT o g= 0.8 Heruly g dhs) Chosen Option : --

An object of 5.0 kg is raised through a height of 2.0 m. The work done in the process is:
(Take g=9.8m/s?)

Ans 49 Sl
KoL o

491]
10 5

107
19.6 [

19.67
98 el
4

087

Q.38 7w o el I F 10% F FHAS F J=1 AL 38 38 T 57 AT A &40

uestion ID : 9864492728
A & 3/ 20% FT s gl 30% et & Bv arg & RBEw 7w awn g Q
He Status : Answered

~2

X3

Yaman sold an item at a loss of 10%. If he had sold it for ¥ 57 more, he would have made Chosen Option :1

a profit of 20%. What should be the selling price of the item to make a profit of 30%?

Ans  of 1T 247
< 23190
< 3 7228
<4 322230

Q.39 ufg x =r 31 -, « & ;Y +, + F 3 + A - I x @A
125 - 50 =10 + 20 x 4 &7 A @& & ¥ 7 gm?

If x means —, + stands for +, + stands for + and — stands for x, which of the following )
gives 125-50 + 10 +20 x4 ? Chosen Option : 3

Ans - 1360
<2315
#3.6246.5
v+ 420

QA0 7fg P, Q & G & I3 I &8 &1, & P, Q & &y v WafeT &7 Question ID : 9864495161
If P is the brother of the son of Q’s Son, how is P related to Q? Status : Answered

Ans 3:"%. Chosen Option : 3
F 8

Question ID : 9864495167
Status : Answered
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xgq’l?n

Grand Son

i

Cousin

v

QM 37 fFd & TIA AT T T 1T TFHg F 3T ¢ Question ID : 9864495159

Find the person who does not belongs to the group Status : Answered

Ans : Chosen Option : 3
KL et WEUT
Pentala Harikrishna
| TaRgeTYeT 31ee
Vishwanadhan Anand
;ST sigdrel
Saina Nehwal
| s g

Koneru Hampi

-

x

o2 24, 60 3T 90 F HJ. fopae & Question ID : 9864492882

The HCF of 24. 60 and 90 is: S Answered
Ans X 13
V26
X312
X4
Q43 weiter &1 1y Fiaw F & AW o g, Tomedr g wE H g F @ T B

- bt B 0T o e 4 27 3 o "8 s Question ID : 9864492553
N Tt ] 3 E 2 Status : Answered

Chosen Option : 2

Satheesh is two years older than Goutham who is twice as old as Sai. If the total of the Chosen Option :2

ages of Satheesh, Goutham and Sai is 27, then how old is Goutham?

Ans 2(:' 1.12
v 210
X311
X 413

Q'Mﬂﬁﬁ*m*m*w’“ﬁﬁ e ala?q'ﬁlag%? Question ID : 9864493213

According to Newlands” Law of Octaves, how many elements exist in nature? Status : Not Answered

Ans  of 1 56 Chosen Option : --
X 266
X 3. 55
X 465

Q.45

& Download RRB Exams PDF E-BOOKS
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AT w # R e §? Chosen Option : 4

‘Which of the following is used in the preparation of tincture iodine, cough syrup and
many tonics?

Ans ” Proriar
Methanol
» , E¥eiET i
Ethanoic acid
x 3 ufafes ofas
Acetic acid

._f4_i

FEthanol

9/14/2018 7) |
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Q.46 fardr fafae smor &, TREE & %< USFF &1 30 & # MANGO &7 % F1
gem?

If in a certain language, TREE is coded as USFF, how is MANGO coded in that langnage?

Ans X 1. BHONC
~ 2 NOPHB
X = NBOHP
v+ OPHNB

Q.47 farw e & Il EfeT Ths o ¥ % Bwa F w9 F oRa # e
#ﬁvgﬂjmmm%‘?

Which author employed India’s obsession for cricket as the theme for his recent book i
‘Selection Day’? Chosen Option : --

Ans . Rea @S
SL
Vikram Seth
, AT A
Anil Menon
x 3 3TFrer HOrsr
Amish Tripathi
) afaT wfEew

Aravind Adiga

Question ID : 9864495160
Status : Answered
Chosen Option : 3

Question ID :9864492241
Status : Not Answered

x

v

A48 =
% SFEIST & Ueh U] & GAA gl Question ID : 9864493628

. Status : Answered
The mass of one molecule of oxygen is . Chosen Option :1

Ans 9 23 x 102 IrH
23x107%3g

33 x 102 7w
~ 2
3.3x10 %3¢
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43 x 102 7w
~ 3

43x10 %3¢
.53 x 102 ImH

v
53x10%% ¢

Downl oad RRB ALP TECHNI®Y’AN' Exam St udy Not es

¥ & TS HW F I A UG AT HfeTT-
J L OS2 ?

Question ID : 9864495165
Status : Answered
Chosen Option : 3

Find the next two terms 1in the series
JLL,O.,S.?2.?

Ans XY, B
X2X, Z
<X, D
vi+A B

VN Ol & @ S O g 12 § fersw 32
‘Which of the following numbers is divisible by 12?
Ans  of 153412

Question ID : 9864492644
Status : Answered
Chosen Option : 1

X 2 43412
X 3 33412
X 4 63412

Q.51 e m AR e aEg A v AT TR @ § 3w i
FAUK'E | A SHA AT g F A A, S gwhr A T bt @
e

An object having a mass ‘m’ moving with a velocity ‘v’ possesses a kinetic energy ‘K’. If

Question ID : 9864493446
Status : Answered
Chosen Option : 3

its velocity is doubled, its kinetic energy will become:

Ans K 1 K2
K 22K
V34K
X 4 K/4

Q.52 #fr = HTFH a,ax, ax?,
CAE i

2
A sequence a,ax,ax”,

Ans 1 My

ax™ | F 93f Fr g e g, ar sk AT A

ax" has odd number of terms. Then the median is

Question ID : 9864492617
Status : Not Answered
Chosen Option : --

axz
g n

2 axz

X 3 gyt

i Z

axez

file:///sysroot/ho

Q.53 wfaar, o 3 gRar # a5 3 F 3T 4: 7 0 9 B HS I U,
3N A FT AT 56 °T| SoThT T A 1Y (I9 H) AT Hifre)

Question ID : 9864492613
Status : Answered

The pres
4:7:9.

& Download RRB Exams PDF E-BOOKS

15/22


https://career.aglasem.com/
https://rrbexamportal.com/study-kit/rrb-technician
https://rrbexamportal.com/ebook

s Downl gad RRB ALP TECHNI®I"AN' Exam Study Not es
s K116, 36, 28

v 216, 28, 36
/<320, 35, 45
K412, 21, 27

Q.54 Ry 97 e H TF AAY, ol & a8 AT 9zal ¥ @ vdig & & 3t

e : T B Question ID : 9864495173

Status : Answered
FU Chosen Option : 3
Fo TFAa e § wm e fem #
T

1. 3o femw e {1

2. Fo e ==

Consider the given statement to be true even if they seem to be at variance with the
commeonly known facts and decide which of the given conclusions logically follows from
the given statement.

Statement:
Some spoons are glasses. All the plates are glasses
Conclusions

1. Some glasses are plates

2. Some glasses are spoons

A o, AT SRS (1) STEROT A B

Only (1) conclusion follows
Faer sy (2) 3FEOT FT E
Only (2) conclusion follows

v
faewy (1) 3R (2) @ 3gERoT T €
Both(1) and (2) follows

> 4
o ar frsa (1) 3R 7 & fsay (2) argavor & g
Neither (1) nor (2) follows

5 2

Q.55 10 st feeh 7 &1 8 feF F U X e €1 4 RBF & A, O s wA
OIS & 1 3 GG A F U HG H bt e onr?

10 people could complete a task in 8 days. After 4 days, 2 of the workers left. How many )
days from then did it take to complete the task? Chosen Option : --

Ans X1 7
X28
V36
K45

% ey gol E g Question ID : 9864492539

23 — [23 — {23 — (23 - 23 +23)}] chosen éggrs]ijnswered

Question ID : 9864492970
Status : Not Answered

Solve the following:

23 — 123 — 23 — (23— 23 4+ 23111
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X 31
W0

Q.57 gery 78 =g AW $fame & Tfef@a & &gt & @ v e @9 ot
T TETT &7

‘Who among these union ministers in the PM Narendra Modi cabinet belongs to the Shiv

Sena party? Chosen Option : 1
TeTee it
Sadanand Gowda
?<2_ﬁ#ﬁmﬁ TSR
Nitin Gadkari

v - Fea

Anant Geete
, 3T SR

Uma Bharti

Question ID : 9864492257
Status : Answered

Ans

r

x

Q.58 RF & T F 3o/ &7 F v T # ¥ FHiF & T g9y g
f&T 91T =t @ x, y, z & AT AT Hifee?
FUA:
Lx+y=12; x+z=4

Question ID : 9864495168
Status : Not Answered
Chosen Option : --

I: x-y=6

‘Which of the following statement is sufficient to answer the question?

Find the values of %, y, z from the given statements.
Statements:

Ix+y=12;x+z=4

I x—y =6

Ans B 9
Faer || gaeT ¥ et | aar gaeg J8 8

Only II is sufficient while I is not

JFar | A a &l T g
Neither I nor 11 is sufficient
13RI gt g E

Both I and II are sufficient
W 4
heel | gOTeg & &t || 3har 9acg 781 2l

Only I is sufficient while IT is not

x

x

Q.59 e cufeT (9ff & 25 frions & WA sorar ¢ 3 s $fF § 2.5 Fr IR A=
TWoIAT 8| A g = 10 ms~ &Y, A WA U7 3HS ZaRT 3 313 S 7 A7 7727 giem?

A man lifts a luggage of 25 kg from the ground and puts it on the head, 2.5 m above the
ground. If the value of g = 10 ms™2, then the value of work done by him on the luggage Chosen Option : --
is:

Ans X 1.2257
X 22257

“ | @ Download RRB Exams PDF E-BOOKS
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QOO st i1 it W1 W TorRIY & A o 9 W @ 1ol WA e €2 Question ID : 9864493575

Which group of animals are exclusively fiee living marine animals? Status : Answered

Ans Chosen Option : 1
1 FryferET P
Arthropoda
TehldsHer
Echinodermata
AT
Mollusca

IGEEE

Nematoda

v 3

X 3

X a4

Q.61

& 3T AWl H 3T UG A HliAC- Queston ID : 9864495177

Status : Answered

X, V, T, F‘L F’r ? Chosen Option : 4

Find the next term in the series

X V.T.R.P,?
Ans *le

XL

X0

<N

Q.62 1g ws Tl &1 s & WlE FT 3 16% & a7 W &= &1 21 ety a7
o o = 7

After buying a toy for ¥45, Raghu managed to sell it at a profit of 15%. The selling price .
of the toi; V\is: Y Kok ¢ P ’ i Chosen Option : 4

Ans X 1.F50.75
< 2. 360
X 3. 75125
W 4 F51.75

Question ID : 9864492668
Status : Answered

Q.63 213 pm W e $1 g$ X 7¢ & g2 ¥ v T == For 71 A= fodqer
gram?

‘What will be the acute angle between the hour-hand and the minute-hand at 2:13 p.m?

Ans K 1.16.5°
< 2180
X 3.13.5°
W 21150

Q.64 g Ararger WHATAT el o7 2017 7 AR THY e &5 FT gRE e
& fere g auf &1 sieqaer fhar §?
Which nr— .
Indian

Question 1D : 9864492753
Status : Answered
Chosen Option : 2

Question ID : 9864492329
Status : Answered
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Ans
KoL
Micromax
2
Oppo
ESCEl
| BlackBerry
X 4 el

Karbonn

K3

Downl oad RRB ALP TECHNI®Y’AN' Exam St udy Not es
ATy

Q.65

& IS AT H 3T I FAT g2
3G, 6H, 11J, 18M, ?

Find the next terms in the series

3G, 6H, 111, 18M. ?

Ans ?{1- 20U

< 2.27Q

<227V

v 4 18P

Question ID : 9864495178
Status : Answered
Chosen Option : 3

file:///sysroot/ho

Q66 Ftes 1 Faen ARER FW FEfT ¥?
The Kambala festival of Karnataka is essentially associated with what?

Ans , mﬁ. Eﬁ' (_ylg_lé
Xwu”
Cock fighting
e @ e
Buffalo race
| nfeare e
Tribal dance
 giEt #r e
~ 4
Bull fighting

-

x

Question ID : 9864492423
Status : Not Answered
Chosen Option : --

Q.67 37 smemfore % & A FaC O 9w Tgd AT e e g
A AT, AT T T AN 6 T BRSO % HaUe 39 WAt
& T

Name the spiritual leader who was honoured with a humanitarian award by a prominent
Jewish human rights organisation for promoting human dignity, interfaith relations and
tolerance among people.

Ans TENTH &
X1 b
Asharam Bapu

z'aﬁTTméEr

Baba Ramdev

x

Question ID : 9864494455
Status : Not Answered
Chosen Option : --
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s & & T aeT
 Sri Sri Ravi Shankar
AT 919
x4 ®
Morari Bapu

Q.68

Ans

fofafag & & o9 o Fux T 87

eafd & 37 @ &
Which of the following statements is true?

The velocity of sound is:

| Wie & e & wfE & w5
less in summer than in winter

X2 wet s At #F v @A
same in winter and summer

| AtEs R
independent of seasons

| wiewit 1 Jeren 7 A 7 Ao

more in summer than in winter

x

X

-

Question ID : 9864493264
Status : Answered
Chosen Option : 4

Q.69

Ans

T 7 ¥ g 7 B ufadusar gidr 82
Which of the following has low resistivity?
ARIShIH

Nichrome
X 2
Glass

ECIIG

Ebonite
ERT

Diamond

v L

X 3

F

Question ID : 9864493185
Status : Answered
Chosen Option : 3

Q.70

Ans

file:///sysroot/ho

TR & 9¢ W & TF AR F HHR T 3cl &

AT THR T AT ICAT A AT ol dg X &afl aAMfgT?

& 1: &, AT AT TAGIOT TeNOT YT T E

T 2: 7E1, AT 3EIET VeEIR H GUR o § 31 & & s Rew 7 7
HETTH B

Read the question and answer from the given information:

Should the govt stop giving permission to new industries

Argument 1: Yes, new industries create environmental pollution
Argument 2: No, New industries improves employment and takes part in economic growth

Question ID : 9864495175
Status : Answered
Chosen Option : 1

of coun
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o, o Il FeT gl

II only is correct

xz_:ra’rlamsré’ruu?rm

Neither I nor 1T is correct
o, AL SR A R

Either I or II is correct

4_aﬁ?»r|ﬂ'€r%|

x .
I only is correct
Q7 ar Tlé’ W H 3797l T&EAT &1 E'.’Flﬂ") Question ID : 9864495179
Status : Answered
0: 1: 4: 2?: 16: 125: 3637 Chosen Option :1

What will be next number in the series?
0.1.4.27.16.125.36.7

Ans 51343
X 2144
<372
v 25

72 TEFA F AT afare-
Q72 e a1 afeT M & ® T3 Question ID : 9864495164

vafopT TdT e 3 gl €1 FT Tafols 39T TEArer ufotar ¥ 3 €7 Status : Answered
T 1: &, 9fF 38 3WH TEWST §, uvar Ay o

S Chosen Option : 1
T 2: &, dfh 9§ 3HHT WEUST §, 9o Ay 927 ¥

Read the question and answer from the given information:

Pravalika is studying 10% class, is Pravalika elder than Pranitha who is her classmate?
Argument 1: Yes, as she is her classmate Pranitha is younger to her
Argument 2: No, as she is classmate Pranitha is elder to her.

Ans o< g
Far | AT &Il 3HFEor Fa g

Neither I nor II follow
0 &t | 31 1l FFEOT LT B

Either I or IT follow

. ol || HFEIOT FHAT §
Only II follow

, | ST FA F
Only I follow

>~ 2

Q.73 Tr=fof@a # ¥ o T=7 # Ty =ia &1 uet 3= & 3e@T & v

uestion ID : 9864492110
i &7 © .
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Ans
KoL
Vadodara
HgHACTES

| Ahmedabad
T=hIE
Rajkot

HId
v

Surat

X2

X3

Downl oad RRB ALP TECHNI®Y"AN' Exam St udy Not es

Q.74 F7aT 3eaX fam F T T W Bl 4 kms TAA F AIg 77 G A5HT 3 kms
Tl 1 3w 9 IO WREE fig & Brae gy Mt frw frar F 2

Mamatha is walking towards North. After walking 4 ks, she turns right and then walks

for 3 kins. Now how far and in which direction is she from the starting point.

Ans FcaT 9REH - 6 kms
KoL
6 kms - N-W
- 9f¥=FH - 7 kms
~ 2
7 kms - West
” gf&oT 9 - 5 kms
3.
5 kms - S-E
(43%?‘{5‘ - 5 kms
5 kms - NE

Question ID : 9864495183
Status : Answered

Chosen Option : 4

Q.75 ufy v g Fr uo HeT 9 WFs F ¥ F FY I Hr 3T HFr F0=w T A
6 UohE & 91 38+ Euas # 9iHAT Sdger g ¢

(AT o g = 10 HET 9 T )
If a ball is thrown vertically upwards with a velocity of LO m/s, then what will be the

magnitude of its displacement after & s?

(Take g = 10 m/s?)

Ans

X1 20 HreT
20 m
4O FIeT
LO m
60 AT
60 m
X 4 20 HIET

20 m

X 2

v

Question ID : 9864493459
Status : Not Answered

Chosen Option : --
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